@(7105111'(‘ under addition) u+v eV

2. (Additive commutativity) u4+v = v +u
3. (Additive associativity) (u+v)+w=u+ (v +w)

@(Ad(litivo identity) There is an element 0 € V called the “zero vector”, such that

u + 0 = u for every u.

) - Z el
5. (Additive inverses) For each u € V there is another element —ua € V' such that u + ) -+ -/ — O
(~w) =0, 3 _ 3

@(("lusuro under scalar multiplication) ru € V

7. (Distributivity) r(u+ v) = ru+ rv
8. (Distributivity) (r + s)u = ru + su
9. (Multiplicative associativity) r(su) = (rs)u

10. (Multiplicative Identity) lu = u.
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